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O ZHIZIS / 88|
(CH: M
| . MU A =2 ~
. AL E ME71XE) M of Ao I T =T of| A /g (eh H 1
2N | 9I9s
A 415,000 430,000 415,000
3-1 |O HEAIH AMEITis X SX| 24 AFY | - 50,000,0009 50,000 50,000 1 1 50,000 | AEZAIA
3-2 |O HotAlE 2R ALY * 500,000 x 5071 & 25,000 o| 2 2 25,000 | AlTFALY
3-3 |O O{g-$=AAE SX|&2] & 24=Z At - 40,000,000 40,000 40,000 3 3 40,000 | AZAI
3-4 |O LAt MBIHOfAIE A2 - 30,000,0008 30,000 30,000 4 4 30,000 | AZAA
3-5 |O dith= TOfME =Z2t WH | - 8,000,000 x254] 200,000 0| 5 5 200,000 |  AlFAHY
- OIZAHI[: 12,000,000
- MEAXR 1ZHAM MY AFA ! ! A ZLAA
3-6 |O HEAIR DM ZMEH|ALY . T2 H]: 6,000,0008] 20,000 0 6 6 20,000 MAAS
3-7 |0 AR o8 EEZT ALY - 30,000,000¢ 30,000 300,000 7 7 30,000 | AHAY
- SX|22[H]: 10,000,000
- _"|:O'|AHAI_|-7 I:II_I-A M OX EJ\H T ' ' _/_|.\_AO‘|
3-8 |O sEEU7[HAIE 7R EH| LIl - BT AR 10,000,000 20,000 10,000 | 8 8 20,000 | AIHAL
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AtH L M2
2z HE BTUTT _
s HE7|1Z(F) 27 qarey  [Em T Em| ddEdEh | W 3
2M | 299

A 1,133,050 5,810 410,050

4-1 (O HM3ZAIE= X8 + 89H|: 20,000,000 20,000 5,000 1 20,000 |  ASAY
- M7 7Y W AKX H|: 464,000 x500LH

4-2 - S QHLYA| A& 45,000,000 x 14 312,000 0 312,000 | AMFAY
- 20| E9J|0| & H]|: 35,000,000 x 14
- O QI & H| (2 X ™): 35,000,000 x 14

- o 40,000 0 40,000 | AFARH

43 .« SLCIEH]: 5,000,000 x14] ' TAE

4-4 - QYT SEH|, S/W 14]: 34,000,000 34,000 0 34,000 | AlTFARY

4-5 A7|7| F-OH(15CH) A 7| FAH|: 270,000 x 15Lf 4,050 810 4,050 | ASAHY
+ CCTVE: 25,000,000 x84

4-6 |9 Ch=% CCTV 2X] | - TFEFY: 15,000,000 x24] 250,000 0 0| AFAY
- SCHEH|: 20,000,000 x 14

4-7 CHE& CCTV 870 | - ==CCTV gs7H4: 208,000,0008 208,000 0 0| AFAY
« MDY A|AED M H: 25,000,000 x 14

4-8 - 2}0| M A: 150,000 x1,000%H 265,000 0 0| AIFAMY
- ST A X A|AE: 90,000,0009 x 14
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(el H el
2| - o HMEE MALM=2| ~
s AL E MEIIX (") 27 oAty | EF | ET | of| A+ (2h H| 1
2 | s
A 3,412,950 | 1,601,939 1,612,950
5-1 |O B =2 XH] - Al H|: 1,000,000,000 2 x 14! 1,000,000 500,000 1 1 500,000 | AZAL
5-2 |O AFHAHEZZ "] - A|’dH]| : 200,000,000 x 14! 200,000 0 2 2 100,000 | Al FALY
5-3 |OQ LHEZ KA - A|4dH]| : 500,000,000 x 14! 500,000 400,000 3 3 300,000 | AlSZALE
5-4 |O ot= RA|ZE|E fe AE T - A 7Y 45,000,000 x 14 45,000 o 4 4 45,000 | AHALY
O ZSFENHE & 117/0L SEHA _ S Lo
5-5 RICH 1 R R 7]\ obF K 71 2 O - 8. H|: 350,000,000 x 14! 350,000 60,000 5 5 300,000 |  AlSHAY
5-6 |O OX|g&8X| 24 - O|X| 28X 4 500,000,0008 x 14l 500,000 500,000 6 6 200,000 | A=A
CRusgl, 20t54E XY
- 54,000,000 x 14!
N =i H2|H| x| oo 2 AL
5-7 |O &= Xeld| x| & By KoAaz AamED 54,850 48839 | 7 7 54,850 | AHAY
- 850,000 x 14!
5-8 |O ATt QX2 - ABHH SX|ZHE|: 200,000,000 x 14 200,000 20,000 8 8 50,000 | AFAMA
5-9 |O AH AU D SE QIZIQEIS - Al H|: 63,100,000 x 14! 63,100 73,100 9 9 63,100 | A=A
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O W SBI/ UL, =SSR AH

(Bl Bl

) Mg At ed=9 ~

s A Y W B MEIIX(H) 27 i Aro =z T =g | AdEEEh H 1

LY R

A 177,750 165,500 177,750

1-1 |O REAXALE FX| 22 + 30,000,0008 x 14 30,000 30,000 [ 1 1 30,000 | AEALY
1-2 |O HASZE SX| 23 + 20,000,000 x 14 20,000 20,000 | 2 2 20,000 | AEAY
1-3 |O Hasdd A4 & uj + 10,000,000 x 57} & 50,000 50,000 3 3 50,000 | AlISAHY
1-4 |O FEXaXd =4 3 FH| + 10,000,0008 x 14 10,000 10,000 | 4 4 10,000 | AHSHALY
1-5 |0 ZoMnx HH2X 7Y (2eF S)= 4 3 " | - 10,000,000 x14] 10,000 0 5 5 10,000 | AFALY
1-6 |O FEXSX| BT LK X 22X FHH|| - 310,0008 %2574 7,750 5500| 6 6 7,750 | AHSAY
1-7 |O SSFAE gH| + 30,000,0009 x 14 30,000 30,000 7 7 30,000 | AESALY
1-8 |O TQIFAIE HH| S A + 20,000,000 x 14 20,000 20,000 | 8 8 20,000 | AEHAY
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O TAICXFRI} / &2 D

(EHe: M3
e - o Mg At =Sl ~
2N | s
A 387,120 85,000 381,120
2-1 |O EAIZE| A= (HE) YetEY - 8 9H]: 15,000,000 x 14 15,000 15,000 1 1 15,000 | AHSAHY

- 20Tl E3MAIE HH|SA
2-2 |O YO 22HE 2 1704 FH|S A 270,000,000 x 14] 300,000 0 2 2 300,000 |  AlFAS
- 2H0{ 7l ghE 2 HH| S AL 30,000,000 x 14

2-3 |O MRS ZAIMY AEX A 2F | - 282 SH]: 11,840,000 x 14 11,840 30,000 | 3 3 11,840 | ASAY
2-4 |O 5 EAMNY AKX HUE 2F | - LE2SH|: 41,880,000 <14 41,880 30,000 | 4 4 41,880 | AIZANY
2-5 |O EAIEE A2 E 7R &2 ' ig!oodcfgooljxjjﬂ 254 10,000 10,000 5 5 10,000 | AHALY
2-6 |O CIxtel AHYE Fto2t 7+ * 900,0008 x 1CH 900 0| 6 6 900 | AITHALY
2-7 |0 tEE 7Y * 1,500,000% x 1CH 1,500 o 7 7 1,500 | AlAL
2-8 |O Hztde|7| FEls2 - #3t279: 6,000,0008x 14} 6,000 o| 8 8 0| AlFAY
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S A Y W 8 MEIIX(E) A of| Aol X3 =] of A 4 (2h H 1
2M | 293
A 491,000 200,700 405,000
- 20| ¥ == SO[A|E WA
: 50,000,000&
- O{2I0| S| HOA|EE FH|(=F HZ Y,
O EALR, HOIA|M WA I HH| &)
: 60,000,000
9 O%|3; u]] M S AALA
3-1 |0 Oj2lo|28 SX|ae| U AN st . Of2I0|2 0|5 Al Hu| @A HH|, 235,000 120,700 1 1 235,000 ASALY
H= G HMIIAIE WA)
: 105,000,000
- 0l2lo| 28 =2 MH|
: 2,500,000 x 871 &
- opnaf, "X, WAl S -] ;10,000,000
S 3RS WA :2,500,0008 %27
- ADQ A|ME XMH - © ' g\
3-2 |0 A58 A|EE HH| CAZO AIHS 712 HH] - 150000008 50,000 30,000 2 2 50,000 ASAHY
2 HSe AEE ‘gH| : 20,000,000
7t24 SX|2E[AFY: 60,000,000
_ 7 =X AH|AS Ey\Ne|
3-3 |0 7I2=X| | Ab Li7HR 70| X AFR!: 90,000,000 150,000 50,000 3 3 120,000 ASAHY
3-4 |O SEEAHGR T + 27,000,000 x 1CH(HHEHEY 18) 27,000 0| 4 4 0 AFAY
3-5 |O AtRIEE| R R LY 2@ R 1E, BIEY o) 29,000 0| 5 5 0| 4IFAE
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(EHel: A g
2| - o MEAE AL M=2| ~
2 | 23|
107,300 79,000 85,300
O H3BAEE=E - 1,800,000 63| 11,000 18,000 1 1 11,000 | ASZALY
Z8f oy 1| - 5,000,000 x 14! 5,000 5,000 2 2 5000 | AEAY
=8 X|ZAAICH DA + 10,000,000-% x 14 10,000 0 3 3 10,000 | ATFALE
- ZBt = 2,000,000 x13)

- o H e T 7 7 = Al A A
FH| . 2210118 900,000 x12] 2900 o1 4 4 29001 HmtAd
- 5,000,000 x 14! 5,000 5,000 5 5 5000 | ABAY
A 9 AlEf - 3,400,000 x 157} EHX| 51,000 51,000 6 6 51,000 | AESAIY

- SHEIE O CX 27t et 1Y
C|X|E 7 0 2 sEHe= ° = 400 0 7 7 400 | ATFAIY
|X| 7t 2t 7 . 400,0002x 17} ALY
£89 |+ 22,000,000x 1Al 22,000 0 8 8 0 AFAI
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